= BARRACUDA

ASSEMBLING INSTRUCTION LEGEND
1. MIRRORS HOLES COVER 4. SPACER TUBE H. 2
COPRIFORO SPECCHI DISTANZIALE H. 2
MlRROR HOI_ES COVER TAPA DEL AGUJERO DISTANCIADOR H. 2
COUVERCLE DE TROU DISTANZROHR H. 2
LOCHABDECKUNG ESPACEUR H. 2
T'CAP'22 2. SCREW M6X30 5. SCREW M6X35
VITE M6X30 VITE M6X35
TORNILLO M6X30 TORNILLO M6X35
SCHRAUBE M6X30 SCHRAUBE M6X35
WWW._BARRACUDAMOTO.COM VIS MBX30 VIS M6X35
3. SPACER TUBE H. 16 6. SPACER TUBE H. 22
DISTANZIALE H. 16 DISTANZIALE H. 22
DISTANCIADOR H. 16 DISTANCIADOR H. 22
DISTANZROHR H. 16 DISTANZROHR H. 22
ESPACEUR H. 16 ESPACEUR H. 22

EN: USE THE SPACERS TO GUARANTEE THE CORRECT DISTANCE FROM FAIRING

IT: UTILIZZARE SPESSORI PER GARANTIRE LA CORRETTA DISTANZA DALLA CARENA

ES: USE LOS ESPACIADORES PARA GARANTIZAR LA DISTANCIA CORRECTA DEL CARENADO

DE: VERWENDEN SIE KEILE, UM DEN RICHTIGEN ABSTAND ZUR MOTORRADVERKLEIDUNG ZU GEWAHRLEISTEN
) FR: UTILISER DES CALES POUR ASSURER LA BONNE DISTANCE DU CARENAGE




